FS LY LXK ZEE=L DIEDELVP=S _ _ _ _ _
HAX | i [ 5 iE Hel & DEFE | [H4X]| hibse | 4 18 Hel & DEFE | [H4X]| hibse | 4 18 Hel & DIEE |
L1-1 50 300 200 340 | L7-1 75 600 500 910 L13-1 110 900 | _ 1,000 1,500
L1-2 50 300 200 370 L7-2 75 600 500 940 L13-2 110 900 1,000 1,550
L1-3 50 300 200 400 L7-3 75 600 500 970 L13-3 110 900 1,000 1,600
L1-4 50 300 200 430 L7-4 75 600 500 1,000 L13-4 110 900 1,000 1,650
DIFE [L=15x 2% . S=18 x 2%« L7-5 75 600 500 1,050 L13-5 110 900 1,000 1,700
L2-1 50 300 250 430 DIEE L=18x 2%, S=24 x 2K L13-6 110 900 1,000 1,750
L2-2 50 300 250 460 L8-1 75 600 600 940 L13-7 110 900 1,000 1,800
L2-3 50 300 250 490 L8-2 75 600 600 970 DIEE L=30x% 2%, S=24 x 31
L2-4 50 300 250 520 L8-3 75 600 600 1,000 L14-1 110 1,050 1,200 1,700
L2-5 50 300 250 550 L8—4 75 600 600 1,050 L14-2 110 1,050 1,200 1,750
DIEE L=15%x2%. S=18x 2% L8-5 75 600 600 1,100 L14-3 110 1,050 1,200 1,800
L3-1 50 400 300 520 L8-6 75 600 600 1,150 L14-4 110 1,050 1,200 1,850
L3-2 50 400 300 550 DIEE L=18x 2%, S=24 x 2% L14-5 110 1,050 1,200 1,900
L.3-3 50 400 300 580 L9-1 110 750 600 1,100 L14-6 110 1,050 1,200 1,950
L3-4 50 400 300 610 L9-2 110 750 600 1,150 L14-7 110 1,050 1,200 2,000
L3-5 50 400 300 640 L9-3 110 750 600 1,200 DILE L=24 x 3%, S=30x 3
DIFE L=18 X 28, S=24 X 2%« L9-4 110 750 700 1,150 L15-1 110 1,050 1,400 1,900
L4—1 50 400 350 610 L9-5 110 750 700 1,200 L15-2 110 1,050 1,400 1,950
L4-2 50 400 350 640 L9-6 110 750 700 1,250 L15-3 110 1,050 1,400 2,000
L4-3 50 400 350 670 L9-7 110 750 700 1,300 L15-4 110 1,050 1,400 2,100
L4-4 50 400 350 700 L9-8 110 750 700 1,350 DILE L=24 x 3%, S=30x 3
L4-5 50 400 350 730 DIEE L=24 x 2%, S=30 % 2% L16-1 110 1,200 1,400 2,000
L4-6 50 400 350 760 L10-1 110 750 800 1,250 L16-2 110 1,200 1,400 2,100
L4-7 50 400 350 790 L10-2 110 750 800 1,300 L16-3 110 1,200 1,400 2,200
DIEE L=18x 2. S=24 x 2%k L10-3 110 750 800 1,350 L16-4 110 1,200 1,400 2,300
L5-1 75 500 400 670 L10-4 110 750 800 1,400 DIEE L=24 x 3. S=30x 3%k
L5-2 75 500 400 700 L10-5 110 750 800 1,450 L17-1 110 1,200 1,600 2,100
L5-3 75 500 400 730 L10-6 110 750 800 1,500 L17-2 110 1,200 1,600 2,200
L5—4 75 500 400 760 DIEE L=24x 28, S=30x 24k L17-3 110 1,200 1,600 2,300
L5-5 75 500 400 790 L11-1 110 900 800 1,400 L17-4 110 1,200 1,600 2,400
L5-6 75 500 400 820 L11-2 110 900 800 1,450 L17-5 110 1,200 1,600 2,500
DIEE L=18%x 2. S=24 x 2%k L11-3 110 900 800 1,500 L17-6 110 1,200 1,600 2,600
L6-1 75 500 450 820 L11-4 110 900 800 1,550 D(XE L=24x 3, S=30x 3%
L6—2 75 500 450 850 L11-5 110 900 800 1,600
L6-3 75 500 450 880 DIEE L=30x 2%, S=24 x 31
L6-4 75 500 450 910 L12-1 110 900 900 1,400
L6-5 75 500 450 940 L12-2 110 900 900 1,450
L6-6 75 500 450 970 L12-3 110 900 900 1,500
DIEE L=18x 28, S=24 x 2 L12-4 110 900 900 1,550
L12-5 110 900 900 1,600

DIEE

L=230 % 247, S=24 X 3




BHIAHRY AR

E B 28 | 32 | 4= | 52 | 62 | 72 | 85 9B 10 | 112 | 122 | 138 | 142 | 152 ] 168 | 17=2 |
AL 300 400 500 600 750 900 1050 1200
AMEL/S 328/304 428/404 528/504 654/630 780/756 906/870 1056/1020
HES | 110 3-1 | | |
S| 120 2-3 ' ' '
FES| 125 3-2 B
FEx| 130 4-1 ’7 s Mg 4‘
EE| 135 | 24 5-1 — 7 B —
ZEE| 140 3-3 1T
EE | 145 4-2 T = x
ZFEE| 150 2-5 5-2 |
| 155 3-4 ‘
ZFEE| 160 4-3 DL
S| 165 5-3 i BRiE | @
ZEE| 170 3-5 8-1
RS | 175 4-4 ‘
ZES| 180 5-4
FEs| 185 6-1 8-2
FEE| 190 4-5 || ||
EE| 195 5-5
ZFES| 200 6—2 8-3
#Es | 205 4-6 7-1
ZFEE| 210 5-6
ZEE| 215 6-3
FEE| 220 4-7 7-2
Es | 225 8—4 9-4 10-1
ZFEE| 230 6-4
FEs | 235 7-3
ES | 240
FEE| 245 6-5
ZEE| 250 7-4 8-5 9-1 9-5 | 10-2 12-1 | 13-1 | 14-1 | 15-1 17-1
ZEE| 260 6-6
ZFEE| 275 7-5 8-6 9-2 9-6 -3 -2 | 13-2 | 14-2 -2
ZES | 300 9-3 9-7 -4 | 11-1 | 12-3 | 13-3 | 14-3 | 15-3 | 16-1 | 17-2
ZFEE| 325 9-8 10-5 | 11-2 | 12-4 | 13-4 | 14-4
ZES| 350 10-6 | 11-3 | 12-5 | 13-5 | 14-5 | 15-4 | 16-2 | 17-3
ZEE| 375 11-4 13-6 | 14-6
#Es | 400 11-5 13-7 | 14-7 16-3 7-4
ZFEE | 450 6-4 -5
S| 500 17-6




